HYDRAULIC PTO PUMP DRIVE SPE(;IFIC(ATIC;NS MGX—6598DC MARINE GEAR SPECIFICATIONS
SEE NOTE "B” PRIMARY SHAFT SECONDARY SHAFT WORKING TORQUE = 600 x L/40 (N m GEAR RATIO 2.46 3.03 3.48 3.93 4.43
L = Length of | : : : . .
SEE NOTE "C" CLUTCH SOLENOID CLUTCH SOLENOID :AC;SEEU 23; %T\ILLLFT'NG lo7o capaciry [OPERATING SPEED 600~1800 mir™ TOTAL MASS (DRY) APPROX. 621 kg
SOLENOID"B"(FWD) SOLENOID”A"(REV) SHAFT ROTATION SAME AS ENGINE ROTATION BASIC UNIT (DRY) APPROX. 555 kg
ACCEPTS SAE J744 SIZE "C” PUMP MASS INPUT HOUSING 20 kg
o . SEQUENCE VALVE iDp 12/24 INPUT COUPLING AND FLANGE 46 EZ
WIRING OF SOLENOID INPUTS : NO. OF TEETH 14 _ _
O O iR ® THE OPTICALLY ISOLATED INPUTS DISTANCE REQUIRED TO _ 710 (126) INOMINAL PITCH CIRLE DIA 9,633 OIL QUANTITY APPROX. 18 L
@ REQUIRE A VOLTAGE POTENTIAL REMOVE GEAR PUMP \ / T SPLINE DATA | : - CLUTCH OIL 2.2~2.4 MPa é&&ﬁgEngED
s DIFFERENCE OF 10 VDC MINIMUM, 304 PRESS. ANGLE 30 | Ol PRESSURE LUBE OIL 0.4~0.6 MPa_| OIL TEMP. 65~70°C
Q O = THE SUPPLY SOURCE MUST BE CAPABLE 25_, | \ / TIP DIA. 27.548 o OIL VISCOSITY SAE #40 _ (MULTI—GRADE OIL IS NOT APPROVED)
(L] OF DELIVERING AT LEAST 10 mA. CEAR PUMP Ao [ROOT DIA. 32.560 —0.050 |\ & cREASE THE FIRST OIL CHANGE AT 100 HOURS OF
= M 20000 ARC TOOTH SPACE 3.325 18;828 CHANGE INTERVAL OPERATION AND SUBSEQUENTLY EVERY 1000
. /)\y "M\ . ™S — 000C. HOURS OF QPERATION
SEE NOTE "A SEE NOTE "A OUTLET TO REVERSE CLUTCH h < o000
NB \ X STRAINER WIRE NETTING
NOTES : OlL PRESSURE(LARGE AREA T3] > OIL INLET AND BREATHER SHIFTING SHIFT TO FORWARD OR REVERSE FROM NEUTRAL
A. PROPORTIONAL CONTROL VALVE OPERATION OF CLUTCH PISTON) — R RESTRICTION AND SHIFT ACROSS NEUTRAL SHALL BE MADE AT
70 BATTERY JPORER SUPPLY VOLTAGE " oY M14x1.5 PLUG(ISO—6149 TH'D) ! | / TEMPRATURE SENSOR ENGINE SPEED LOWER THAN 50% OF THE RATED SPEED
2. OPERATION TO BE PERFORMED WITH ONLY TWIN DISC NAME PLATE HEAT EXCHANGER WATER FLOW (RAW WATER) 80~85 L/min.
. CONTROL SYSTEMS OR MODULES. PTO COVER ' TEMPERATURE OF COOLING WATER 32°C_ MAX.
©
\ B. MANUAL DIRECTIONAL CONTROL VALVE OPERATION @/ SECTIONAL VIEW DWG NO. — —
[EORCED)|| 5 Wn MANGAL DIRECTIONAL CONTROL VALVE In QUTLET TO CLUTCH 8.5 T 616 PRESSURE TRANSDUCER NO (WHITE 7—40435-0
gﬁ/higlg_% r&smom PUSH TO ENGAGE SECONDARY OIL PRESSURE —tHTo . £C300 HARNESS S GEAR PUMP TOOTH WIDTH 44 mm
(£ a 2. WITH MANUAL DIRECTIONAL CONTROL VALVE IN M14x1.5 PLUG(ISO—6149 TH'D) i NAME PLATE (LUBRICANT) NC (RED ‘E_ 6~30 VDC, MAX.CURRENT 100 mA ; 2—POLE
CEATERE PG 0N PUL TOENGAGE PRMAT SEQUENCE VALYE . c (A0 P SSURE ST ponT=0 5 <5
e +0.0
C. MANUAL DIRECTIONAL CONTROL VALVE MODE SWITCH T 1T ELECTRIC SELECTOR VALVE WIRING BYPASS OPENING AT 0.35 *>%Pg
1. SWITCH IS NORMALLY CLOSED WHEN MANUAL QUTLET FOR THERMOMETER DETAIL OF CLOGGING INDICATOR
DIRECTIONAL CONTROL VALVE IS IN THE CENTERED (HEAT EXCHANGER INLET OIL TEMP.) 8 OUTLET TO LUBE OIL PRESSURE
POSITION AND OPEN WHEN LEVER IS ACTUATED FROM M16X1.5 PLUG O ’ +0.1 +0.1
5. CURRENT = 20 AWPS MAX = - M14x1.5 PLUG(ISO—6149 THD) _90.5 | 905 5098
3: FOR WIRING SCHEMATIC, RI:ZFER TO CONTROL MODULE T n +=0.1 +=0.1 .
DRAWING. i q $\$ WARNING PLATE(HOOK) 57.25 _|57.25 40
CONTROL VALVE (GENERAL PURPOSE VALVE) | = 500 1/2-13 UNC TAP 5/8"—11 UNC TAP
DISTANCE REQUIRED To [U{—H L X WARNING PLATE —if’l_'%iz N _/ 34 DEEP I E
00001 —— -
INPUT SHAFT DIRECTION REMOVE HEAT EXCHANGER @ -]-0 go¢ (SUPPORT) - X\ = 2 HOLES T
EMERGENCY BOLT(R1/2 PLUG) © © c1
OF ROTATION ZINC STICK FOR 4 3
(PRIMARY SHAFT CLUTCH) 460 620.1  \\ X N S
OIL FILTER QUILET_TO FORWARD CLUTCH [ HEAT EXCHANGER' \ZINC STICK FOR \MANUAL OVERI%IDE SWITCH <O PR Sor [ e / / ~ =
OlL PRESSURE(LARCE AREA CORROSION PREVENTION CONNECT WIRING i he \ \ S ‘
L() «~
CLOGGING INDICATOR OF CLUTCH PISTON) N S
PRESSURE SWITCH) DISTANCE REQUIRED TO RUBBER HOSE OIL LEVEL GAUGE 1o & ——F—— © -
240 242 »~ REMOVE OIL LEVEL GAUGE / / (OVERALL LENGTH 655) LO/V 16—214 — \ —
N 0 EQ. SPACED DETAIL OF PTO MOUNT [ _
OIL DRAIN PLUG FOR y © 20 - 2722 ~ PLAIN WASHERS HAVE TO (SAE J744 SIZE "C”)
OIL FILTER(R1/2) ) /4 / C1 BE PROVIDED
68.6 N.m SToUS REMOVE OIL FILTER : 70 p—att 45 2-e12
02020 ° . | '} ) & &,
02020208 OUTLET (o]
SENSOR OF 0O PoceC . S
oo wtee — I = SN
NI - o009 THICKNESS 12 THICKNESS 10
B @ o 1 %g 8ok lB—1 ~| © MATERIAL JIS—CAC403 MATERIAL JIS—SS400
N ~ '\, O r 10000l || F § ﬁ COOLING WATER OIL DRAIN FLANGE
OUTLET TO REVERSE ° o i %go g c: M INLET AND OUTLET FLANGE
CLUTCH OIL PRESSURE ] o\® ~ O S 10 poooC < &
(SMALL AREA OF 29 je B A 1 (s N e el 9 <= § =
CLUTCH PISTON) X —— bl | ) @l O =N 5_. . 24
M14x1.5 PLUG B E' L - Q0 S ! C1. | | 224.2 DRILL THRU
(ISO—6149 TH'D) ™ | _ 2l ™ T N 15 HOLES _
A SNUNLET - ol 2 ‘9\ NI EQ. SPACED
T ® o L(l\j g ~ ™S _ S S Lr)A
+ — o~ o
¥ M —— S
2 o Tp!
EMERGENCY BOLT(R1/2 PLUG) / —— L a (3 D % N‘\‘; ol = “@)E
(SECONDARY SHAFT CLUTCH) - @
o /8 [~ )
©| v ~ 36 ! T~ CF—R-420 f 4 —
CENTER OF GRAVITY \ 0| Q AN O AN g
/ \ - 7 \\2\5 g ! 12-917 THRU y =
MAIN PUMP STRAINER © 170H0.020 § EQ. SPACED /
2 DISTANCE REQUIRED TO — - (REAM) RO.4 CENTER OF GRAVITY GSING ATTACED WASHERS RO 4
REMOVE STRAINER —~ N FOR INSTALL
GREASE NIPPLE X ‘ || ' = 2—20 REAM 20 DEEP(BOTH SIDES) DETAIL OF OUTPUT FLANGE
OUTPUT SHAFT DIRECTION 2 N 6—M20x2.5 TH'D. 45 DEEP
<+ OIL DRAIN PLUG FOR §
OF ROTATION IN FORWARD / ‘ A . - HEAT EXCHANGER(R3/8) (TBHSTEF’?DSE“E@GEMENT LENGTH 40 MIN. M E '|'|:\> | C
.. Y
X \ \[ ¥ TIGHTENING TORQUE 49 N.m { USE ALL 12 HOLES FOR MOUNTING UNIT
SENSOR OF OUTPUT SPEED | 55 | 85 | 100.5 5 5 _@} THIRD ANGLE
P L —1_ 120 _|_ 120 _| OUTLET TO FORWARD CLUTCH : MOUNT THE UNIT ON A COMMON BASE WITH ENGINE, PROJECTION
OIL DRAIN FLANGE // 170 170 OIL PRESSURE(SMALL AREA 476.5 126 15.7  AFTER LOCATING BRACKETS WITH PINS SMILAR T0
1L 240.9 _ OF CLUTCH PISTON) 680.5 _| 740434
DRAIN PLUG WITH MAGNET _ 290 i 290 _ M14x1.5 PLUG(ISO—6149 THD)
_(R3/8) — — NOTICEL THIS PRINT CONTAINS MATERIAL WASS W © | UNLESS OTHERWISE SPECIFIED DATE
TIGHTENING TORQUE 49 N.m 360 30\ PROPRIETARY INFORWATION AND IS _ 0.0 emi| VAN DhENIONS ML E. ch . RQEQA@['@@D
\ aaaak i DETRIMENTAL TO THE INTERESTS OF IREAT TREAT RSt Ot XX 0.25 1: 5 RACINE, Wl 53403 — USA
GREASE DRAIN PLUG TWIN DISC, INCORPORATED - \ssv. ALL ANGULAR TOLERANCES £1° R
RACINE, WI 53403 — USA _ IooeL s ay_ mE0RDA gEgMENTgCY}'ngs%%gG —
THS NOTCE S NoT WTENDED e e Y ime |7 — 40434 C
GRANTED TO THE U.S. GOVERNMENT G E N E R A |_ \/| E W APPD, |
Rev | BY APPD. Rev | zone | cH. No. DATE Rev | zone | cH. No. DATE OR OTHERS BY CONTRACT. J. roue_ SHEET 1 OF 1 REV ___
3 3 D C B | A

AlT




